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% 3 Ji ® ( Experimental Theory )

- YeHhiz (Optical Pumping)
- B3R (Magnetic Resonance)
- &M (Optical Detection)




Jt i iz ( Optical Pumping )
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iy i 4z ( Magnetic Resonance )
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Yt %W ( Optical Detection )
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% 35 U % ( Experimental Apparatus )
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% 35 U % ( Experimental Apparatus )
.




% 1 WA ( Experimental Content )
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7 ¥ 3t it ( Analyze and Discuss )

What do you think about this result???




7 ¥ 3t it ( Analyze and Discuss )

Which is the real signal???



7 ¥ 3t it ( Analyze and Discuss )
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Making Model!



7 ¥ 3t it ( Analyze and Discuss )
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Simulation Result by Cadence



I 3% ( Harvest )
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What can we do next?

*Show your opinions!






